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EEAR—VER | & & 13 65.0% 7 35.0% 20 100%
HEHIR 10 76.9% 3 23.1% 13 100%
EOED 5 62.5% 3 37.5% 8 100%
EEAR—YER § 28 68.3% 13 31.7% 41 100% 0
BEXLZEE B & 18 69.2% 8 30.8% 26 100%
HEHIR 10 62.5% 6 37.5% 16 100%
EOED 5 83.3% 1 16.7% 6 100%
BEXLZE F 33 68.8% 15 31.3% 48 100% 0
X %2 7 61 68.5% 28 31.5% 89 100% 0
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FAOTHAVER |[#H & 0 0.0% 2 100.0% 2 100%
HEHUR 2 66.7% 1 33.3% 3 100% 1
T 0 0 0
SATTHAER &t 2 40.0% 3 60.0% 5 100% 1
ZELEFH B ® 3 60.0% 2 40.0% 5 100%
HEHUR 1 14.3% 6 85.7% 7 100%
#EOEM 1 50.0% 1 50.0% 2 100%
CEBER O 5 35.7% 9 64.3% 14 100% 0
PEIRFE &t 7 36.8% 12 63.2% 19 100% 1
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KEZ-FHKER B & 34 64.2% 19 35.8% 53 100% 0
HEHIR 23 59.0% 16 41.0% 39 100% 1
# M 11 68.8% 5 31.3% 16 100% 0
& & 68 1.92 40 1.081 108 3.001 1




